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Your city is about to build a new factory so as to provide more job
. opportunities for citizens; however, the factory might lead to environmental
Question 1 . . :
pollution to some extent. Do you agree or disagree to build such a new
factory?
Reading part Listening part
(AN . [ ]) : The woman agrees.
Announcement: Reason 1: It is money-saving coz she
Rebuild a second-hand spent loads of money on books before.
Question 2 bookstore. : Reason 2: It can free up space coz
Reason 1: Provide more students used to throw books on the
used materials for students; | ground. Also, students can gain money
Reason 2: Students can sell from selling books.
these books to school.
Question: Explain the woman’s opinion and why she holds that opinion.
Reading part Listening part
[ el fRe] (A2 -
Value analysis: a way to | Example: A company produces a special
reduce cost but it is irrelevant | camera and makes efforts to invest money
Question 3 | to adjust price. in corn function, but customers are not
crazy about it, so the company decides to
cancel this function, which reduces the cost
and increases profits.
Question: W 7 #4511 R AR R 3 A MR 25 1 P A«
[R5 Z 5] : Two reasons why dragonflies can capture prey efficiently.
Question 4 Example 1: Huge vision can spot objects much far away from them.

Example 2: Highly developed system in brains that can test rate when prey

moves around.
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Question 1

Do you agree or disagree with the following statement?
Children should learn to use computers and other electronic devices as
early as possible.

Question 2

Reading part Listening part

(ESIELT I
Notice: The
going to develop
course evaluation.

Reason 1: Online evaluation
saves time for students in the
last week of the semester.

Reason 2: Students can get
results much earlier on the
Internet than through the

paper.

[24:4%] : The man disagrees.
Reason 1: Students have too many things
to do in the last week of the semester so
they might even forget to take evaluation;
Reason 2: There is a long vacation so
professors don’'t need to produce the
results in such a short time; If the
professors can give results just three
weeks before the new semester, students
will be OK with it.

university is
online

Question: Explain the man’s opinion and why he holds that opinion.

Question 3

Reading part Listening part

[ A fRe] (A2 ] -

Interviewer Influence Example: The furniture company plans to
Some companies focus more | sell something different, so it finds the
on target customers. customers who want to buy furniture, rather
than following traditional sales strategies.
The company posts pictures of the goods
on the blog in order to attract more
customers. The result is that the company
gains huge profits from the new strategy.
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Question 4

[ HiR%E 5] . There are two different ways of hibernation for different
species
The first way is to hibernate in regular time.

Example 1: The squirrels often eat a lot of food in summer. When it is
warm, they will store a lot of food, then, they will choose to hibernate in late
summer.
The second way is to hibernate in cold weather or find few food.

Example 2: If there is enough food in warm climate, poky mouse will no
longer hibernate.




